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B.Sc-306-G   [ ¬ÛÀ¬ı˛¬ı˛ ¬Û‘á¬±˚˛ ^©Ü¬ı… B.Sc-306-G 

¶ß±Ó¬fl¡ ¬Û±Í¬Sê˜  ( B.D.P.) 
ø˙é¬±¬ı¯∏«±ôL ¬Û¬ı˛œé¬±  ( Term End Examination )  

øÎ¬À¸•§¬ı˛, 2014 › Ê≈√Ú, 2015 

‹ø26√fl¡ ¬Û±Í¬Sê˜ ( Elective ) 

õ∂±Ìœø¬ı√…± ( Zoology ) 
Ó‘¬Ó¬œ˚˛ ¬ÛS ( 3rd Paper : Developmental Biology 

and Ethology ) 
¸˜˚̨ – ≈√̋ ◊√√ ‚KI◊± ¬ Û”Ì«̃ ±Ú – 50 

Time : 2 hours Full Marks : 50 
[ ˜±ÀÚ¬ı˛ &èQ – 70% ] 

Weightage of Marks : 70% 
¬¬¬¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 

’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ 
Œfl¡ÀÈ¬ ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 

Special credit will be given for precise and correct 
answer. Marks will be deducted for spelling 

mistakes, untidiness and illegible handwriting. 
The figures in the margin indicate full marks. 

1º øÚ•ßø˘ø‡Ó¬ õ∂ùüøÈ¬¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 10 

 ÿÀÊ√ÀÚø¸À¸¬ı˛ ø¬ıøˆ¬iß √̇ ±¬ı˛ ¬ıÌ«Ú± fl¡èÚº Œ˜À¸±À˘ø¸Ô±˘ › 
Œ˜·±À˘ø¸Ô±˘ øÎ¬˜ fl¡±Àfl¡ ¬ıÀ˘ Î¬◊√±˝√√¬ı˛Ì¸˝√√ ¬ı≈øÁ¡À˚̨ ø√Úº 
ˆ¬±˝◊√√øÈ¬˘±¸ › fl¡ÀÈ«¬' ¬ı˘ÀÓ¬ fl¡œ Œ¬ı±ÀÁ¡Ú Ó¬± ¬ı…±‡…± fl¡èÚº   

    5  + [2 + 1] + 2 

   ’Ô¬ı± 

 ¤…±˜øÚ˚˛Ú, Œfl¡±ø¬ı˛˚˛Ú › ¤…±˘±ÚÈ¬À˚˛¸-¤¬ı˛ &èQ Î¬◊À~‡ 

fl¡èÚº øÚÎ¬◊èÀ˘˙Ú fl¡±Àfl¡ ¬ıÀ˘∑ øÙ¬¸±¬ı˛ fl¡œ ∑  

    [2 + 2 + 2]  + 2 + 2  

2º øÚ•ßø˘ø‡Ó¬ õ∂ùüøÈ¬¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 10 

 ¬Ê√ij·Ó¬ ’±‰¬¬ı˛Ì › ø˙øé¬Ó¬ ’±‰¬¬ı˛Ì ¬ı˘ÀÓ¬ øfl¡ Œ¬ı±ÀÁ¡Ú ∑ 

õ∂±Ìœ¬ı˛ ’±‰¬±¬ı˛-’±‰¬¬ı˛Ì øÚ˚˛LaÀÌ¬ı˛ Î¬◊¬Û±√±Ú&ø˘ ¤fl¡øÈ¬ Â√Àfl¡¬ı˛ 

˜±Ò…À˜ Î¬◊¬Û¶ö±¬ÛÚ fl¡èÚº [3 + 3] + 4  

    ’Ô¬ı±  

 ¬Î¬◊̋ ◊√√À¬Û±fl¡±¬ı˛ Ù¬±È¬±«˝◊√√̆  fl¡±©Ü-¤¬ı˛ ¬ıÌ«Ú± fl¡èÚº Î¬◊̋ ◊√√À¬Û±fl¡±¬ı˛ 

Œ¸±¸…±˘ øÙ¬øÎ¬—-¤¬ı˛ &èQ ’±À˘±‰¬Ú± fl¡èÚº 6 + 4     

3º  Œ˚-Œfl¡±ÀÚ± øÓ¬Ú√øÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú  [õ∂øÓ¬ ø¬ıˆ¬±· ŒÔÀfl¡ 

fl¡˜¬ÛÀé¬  ¤fl¡øÈ¬ fl¡À¬ı˛ øÚÀ˚˛ ] – 6 × 3 = 18 

    ø¬ıˆ¬±· - fl¡      

 [fl¡¡] øflv¡Àˆ¬ÀÊ√¬ı˛ ¸—:± ø˘‡≈Úº fl≈¡¸≈À˜¬ı˛ ¬Ûø¬ı˛˜±ÀÌ¬ı˛ øˆ¬øM√√ÀÓ¬ 

øflv¡Àˆ¬Ê√ fl¡˚˛ õ∂fl¡±À¬ı˛¬ı˛ › øfl¡ øfl¡ ∑ ¬ı…±„√√ ¤¬ı— ¬Û±‡œÀÓ¬ 

øfl¡ Ò¬ı˛ÀÚ¬ı˛ øflv¡Àˆ¬Ê√ Œ√‡± ˚±˚˛ ∑ 1 + 3 + 2   
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 [‡] ô¶Ú…¬Û±˚œ̨ õ∂±ÌœÀÓ¬ fl¡˚˛ Ò¬ı˛ÀÚ¬ı˛ ’˜¬ı˛± Œ√‡± ˚±˚˛ ¤¬ı— 

øfl¡ øfl¡ ∑ øˆ¬˘± ◊̋√√-¤¬ı˛ ¸7¡¡¡±ø¬ıÚ…±¸ ’Ú≈˚±˚˛œ ’˜¬ı˛±¬ı˛ 

õ∂fl¡±¬ı˛Àˆ¬√ ¬ıÌ«Ú± fl¡èÚº 2 + 4  

 [·] Î¬◊√± √̋√¬ı˛Ì¸˝√√ ¸•Û”Ì« ø¬ıˆ¬±Ê√Ú ¤¬ı— ’¸•Û”Ì« ø¬ıˆ¬±Ê√ÀÚ¬ı˛ 

˜ÀÒ… ¬Û±Ô«fl¡… ø˘‡≈Úº Î¬◊ˆ¬˚˛ õ∂fl¡±¬ı˛ ø¬ıˆ¬±Ê√ÀÚ¬ı˛ Î¬◊√± √̋√¬ı˛Ì 

ø√Ú º 4 + 2 

   ø¬ıˆ¬±· - ‡    

 [fl¡¡] ë˜ÀÚ Â√±¬Û ŒÙ¬˘±í ¬ı˘ÀÓ¬ fl¡œ Œ¬ı±ÀÁ¡Ú ∑ ’±‰¬¬ı˛Ì Ó¬N 

øÊ√ÀÚ¬ı˛ ¸Àe øfl¡ˆ¬±À¬ı ¸•Ûøfl«¡Ó¬ Ó¬± ø˘‡≈Ú º 2 + 4 

 [‡¡√√] ¸±¬ı-Œ¸±¸…±˘ ¬ı± ’Ò«-¸˜±Ê√¬ıX ¸±˜±øÊ√fl¡ ¬ÛÓ¬e 

fl¡±À√¬ı˛ ¬ıÀ˘ ∑ ‹ ¸fl¡˘ ¬ÛÓ¬Àe¬ı˛ ÊøÚÓ‘¬˚P ¸•ÛÀfl«¡ 

’±À˘±‰¬Ú± fl¡èÚ º 2 + 4  

 [·] øÙ¬ã-¬ıœ √̇ ± › ˝√√± ◊̋√√̂ ¬-¬ıœ √̇ ±¬ı˛ ˜ÀÒ… ¬Û±Ô«fl¡… fl¡œ ∑ 

øÙ¬ã-¬ıœ √̇ ±¬ı˛ &èQ ’±À˘±‰¬Ú± fl¡èÚ º 2 + 4 

4º Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛øÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú  [ õ∂øÓ¬øÈ¬ ø¬ıˆ¬±· ŒÔÀfl¡ 
≈√øÈ¬ ¬ fl¡À¬ı˛ øÚÀ˚˛ ] – 3 × 4 = 12 

    ø¬ıˆ¬±· - fl¡     

 [fl¡√] ¬ı…±„√√, ˜≈¬ı·̨œ ¤¬ı— ‡¬ı˛À·±À˙¬ı˛ ¬ıv±Àà±ø¸˘-¤¬ı˛ 
Ó≈¬˘Ú±˜”˘fl¡ ’±À˘±‰¬Ú± fl¡èÚº  3 

 [‡] ◊̋√√Úøfl¡Î¬◊À¬ı˙ÀÚ¬ı˛ fl¡Ó¬ ‚KI◊±¬ı˛ ˜ÀÒ… ˜≈¬ı·̨œÀÓ¬ ŒÚ±ÀÈ¬±fl¡Î«¬ 
∆Ó¬¬ı˛œ¬ı˛ ¸”‰¬Ú± √̋√̊ ˛ ∑ ≈̃¬ı·̨œ¬ı˛ ŒÚ±ÀÈ¬±fl¡Î«¬ ∆Ó¬¬ı˛œ¬ı˛ õ∂øSê˚˛± 
fl¡œˆ¬±À¬ı ¸”S¬Û±Ó¬ ˝√√̊  ̨Ó¬± ø˘ø¬Û¬ıX fl¡èÚ º 1 + 2    

 [·] ≈̃¬ı·̨œ¬ı˛ Ú±ˆ«¬Ó¬c¬ı˛ ’±ø¬ı«ˆ¬±¬ı ¬ÛXøÓ¬ ¬ıÌ«Ú± fl¡èÚº  3   

 [‚] ¬¬Œ¢∂-øSêÀ¸KI◊ fl¡œ ∑ Œfl¡, Œfl¡±Úƒ õ∂±ÌœÀÓ¬ Œ¢∂-øSêÀ¸KI◊ 
¸¬ı«õ∂Ô˜ ˘é¬… fl¡À¬ı˛Ú º 1 + 2   

   ø¬ıˆ¬±· - ‡ 

 [fl¡] Œ¬ı˘È¬± ˜±ÀÂ√¬ı˛ Ê√øÚÓ‘¬ ˚ÀP¬ı˛ Î¬◊¬Û¬ı˛ ¸—øé¬5 È¬œfl¡± 
ø˘‡≈Úº 3  

 [‡] ¬ı˛À˚˛̆  ŒÊ√̆ œ¬ı˛ &èQ ’±À˘±‰¬Ú± fl¡èÚº  3   

 [·] Ê√œ¬ıÚ‰¬ÀSê¬ı˛ ø¬ıøˆ¬iß √̇ ± ’Ú≈˚±˚œ̨ ˜±ÀÂ√¬ı˛ ¬Ûø¬ı˛˚±ÀÚ¬ı˛ 
‡¸Î¬̌±ø‰¬S ’ÇÚ fl¡èÚº 3   

 [‚] ¸—øé¬5 È¬œfl¡± ø˘‡≈Ú – 1
  

! 

1

2
 + 1

  

! 

1

2
  

  (i) Œ¬∏C±Ù¬…±˘±ø'¸ƒ 

  (ii) fl¡±È«¬Ú ŒÚà º   
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( English Version ) 

1. Answer the following question : 10 

 Describe different stages of oogenesis. With 

example explain mesolecithal and 

megalecithal eggs. Explain what you mean 

by vitellus and cortex. 5 + ( 2 + 1 ) + 2 

OR 

 State the importance of amnion, chorion and 

allantois. What is neurulation ? What is 

fissure ? ( 2 + 2 + 2 ) + 2 + 2 

2. Answer the following question : 10 

 What do you mean by innate behaviour and 

learned behaviour ? With the help of a flow 

chart, illustrate the behaviour-regulating 

components in an animal. ( 3 + 3 ) + 4 

OR 

 Describe fertile caste of termite. Discuss the 

significance of social feeding in termites. 

    6 + 4 

3. Answer any three questions ( taking at least 

one from each Group ) : 6 × 3 = 18 

Group-A 

 a) Define cleavage. Depending upon the 

amount of yolk how many types of 

cleavages are there and what are they ? 

What type of cleavage is seen in toad 

and bird ? 1 + 3 + 2 

 b) How many types of placenta are found 

in mammals and what are they ? 

Describe different types of placenta 

depending upon the arrangment of villi. 

   2 + 4 

 c) Differentiate between monoblastic and 

mesoblastic cleavages. Give examples of 

each. 4 + 2 
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Group-B 

 a) What do you mean by imprinting ? How 

is ethology related with gene ? 2 + 4 

 b) What are sub-social insects ? Discuss 

parental care in these insects. 2 + 4  

 c) Distinguish between field bee and hive 

bee stages. Discuss the significance of 

field bee stage. 2 + 4  

4. Answer any four questions ( taking two from 

each  Group ) : 3 × 4 = 12 

Group-A 

 a) Give a comparative account of 

balstocoel in toad, chick and rabbit. 3  

 b) After how many hours of incubation 

notochord formation in chick is 

initiated ? State how the process of 

notochord formation is initiated in 

chick. 1 + 2  

 c) Describe the process of emergence of 

nerve in chick. 3 

 d) What is Gray crescent ? Who first 

observed the Gray crescent and in 

which animal was it observed ? 1 + 2    

Group-B 

 a) Write a short note on parental care of 

Belta fish. 3   

 b) Discuss significance of royal jelly. 3   

c) Give an outline sketch of fish migration 

according to different phases of life 

cycle. 3 

 d) Write short notes on the following : 

   1
2

1  + 1
2

1  

 i) Trophallaxis 

  ii) Carton nest.    
    


